12a1133 (K12a1133)

Linearized knot diagam

4 8 9 10 11 12 3 2 1 7 6 5

Solving Sequence

712-6->11>5—>1->10>4—>2—>9—>3 —> 8> C2,C7
C6 Ci11 C5 Ci2 Cip €4 C1 C9 C3 Cg

A knot diagra

Ideals for irreducible component#ﬂ)f Xpar

It = (™ =™+ +2u+1)

* 1 irreducible components of dim¢ = 0, with total 79 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIY=u™®—u™®+4-.-+2u+1)

(i) Arc colorings

0
a2 = \u
1
a6 — u2
—Uu
ain =\ —ud +u
—u?+1
as = \ —y? 4 2¢2
u? —2ud +u
a1 = \y" —3u® +2u+u
ud —2u
ajo = \ —ud +u
w9 — 508 + 8ub — 3u* —3u? +1
a4 = —ul0 4 408 — 5ub + 3u?
—u?T + 120 + - —2u° + 5ud
az = w2 — 11w+ —uwd +u
wl® — 6uld + 14wt — 144 + 207 + 6u® — 2u® — 2u
ag = \ 17 — 7ut® 4+ 19413 — 2241 + 30 + 1407 — 6u® — 4w + u
—ut? 4+ 1700 4 — w2 41
az = \ —u* +18u*? + - + 5u* + 2u?
w™ = 30u8? - — 203 — 2u
ag = \ —u™ +29u89 + .. — 2u3 +u
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u"" 4+ 128u™ + - -+ + 16u + 10

)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

1 u™ —17u"™ + -+ — 26040u + 1697

C2,C7,C8 u —u 4 4 2u—1
3 u™ +u™ 4+ 13u -2
¢4 u® —u 4 —40u — 25

C5,C6,C11 w4 2u—1
C9 u™® = 7u™ -+ 46200 + 121

€10, C12 u™® —3u ... —221u + 56




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 79 78 _ _
¥y 4 23y"° 4+ - - - — 69562296y — 2879809

C2,C7,C8 y79—|—71y78—&—--~—8y2 -1
C3 y79+3y78+_11y_4
Ca y™ — 5y™ 4+ ... + 34200y — 625

C5,C6, C11 Y — 65y - —dy® — 1
€9 Y™ +19y™ + - + 25448720y — 14641

€10, C12 y™ +51y" + ... + 22297y — 3136




(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/—1CS) Cusp shape
uw=1.119910 + 0.2699961 6.31309 + 1.504491 0
u= 1.119910 — 0.2699961 6.31309 — 1.504497 0
u = —1.116140 + 0.3440981 3.99592 4 7.014601 0
u = —1.116140 — 0.3440981 3.99592 — 7.014607 0
u= 1.129450 + 0.3396611 —1.35951 — 3.441881 0
u=1.129450 — 0.3396617 —1.35951 + 3.441881 0
u = —0.127859 4 0.8046197 0.99138 — 11.207401 1.90900 + 7.766951
u = —0.127859 — 0.8046191 0.99138 4 11.207401 1.90900 — 7.766951
u = 0.120290 4 0.8017491 —4.42516 4 7.605351 | —2.69052 — 7.489191
uw=0.120290 — 0.8017491 —4.42516 — 7.60535] | —2.69052 + 7.489197
u = —1.151830 + 0.3228271 0.174975 — 0.2626441 0
u = —1.151830 — 0.3228271 0.174975 + 0.2626441 0
u = —0.088144 + 0.7980681 —3.42247 — 4.032121 | —1.76280 4 4.493107
u = —0.088144 — 0.7980681 —3.42247 4+ 4.032121 | —1.76280 — 4.493107
u = —0.046884 4 0.7992981 —1.44028 4+ 2.804391] | —0.85617 — 2.181471
u = —0.046884 — 0.7992981 —1.44028 — 2.804391 | —0.85617 4 2.181471
u = 0.065230 4 0.7957341 —6.12113 4 0.616041 | —6.03236 4 0.348471
u = 0.065230 — 0.7957341 —6.12113 — 0.616041 | —6.03236 — 0.348471
u = —0.109674 + 0.7896561 —2.98096 — 3.796141 | —0.06060 + 2.398047
u = —0.109674 — 0.7896561 —2.98096 + 3.796141 | —0.06060 — 2.398041
u= 0.129454 + 0.7704261 3.35446 + 2.372481 4.39926 — 2.886011
u= 0.129454 — 0.7704261 3.35446 — 2.372481 4.39926 + 2.886011
u = —1.174720 + 0.3398261 —0.109212 — 0.0946461 0
u = —1.174720 — 0.3398261 —0.109212 4 0.0946461 0
u=1.201820 4 0.3435771 —2.63933 4 3.502521 0
u=1.201820 — 0.3435771 —2.63933 — 3.502521 0
u = —1.217970 + 0.3499907 2.16029 — 6.952031 0
u = —1.217970 — 0.3499907 2.16029 + 6.952031 0
u = —1.27536 2.83534 0
uw= 1.318290 + 0.0715411 6.31838 4 2.662531 0




Solutions to I V—1(vol + /—1CS) Cusp shape
= 1.318290 — 0.0715417 6.31838 — 2.662531 0
= —1.311270 + 0.2481021 3.39241 — 1.408851 0
= —1.311270 — 0.2481021 3.39241 + 1.408851 0
= 1.296480 + 0.3469617 2.75060 + 1.323261 0
= 1.296480 — 0.3469611 2.75060 — 1.323261 0

0.156652 + 0.6344301

5.00375 + 3.992601

5.33060 — 4.900461

0.156652 — 0.6344301

5.00375 — 3.992601

5.33060 + 4.900461

1.320350 + 0.2760381 3.78685 + 4.885571 0
= 1.320350 — 0.2760381 3.78685 — 4.885571 0
= 1.330100 + 0.2365061 8.98594 — 1.623551 0
= 1.330100 — 0.2365061 8.98594 + 1.623551 0
= —1.310030 + 0.3453181 —1.81920 — 4.727731 0
= —1.310030 — 0.3453181 —1.81920 4 4.727731 0
= —0.543300 + 0.3389991 5.11761 — 7.499241 6.46948 + 7.991261

= —0.543300 — 0.3389991

5.11761 4 7.499241

6.46948 — 7.991261

0.601727 + 0.206736.1

6.71860 — 1.014231

9.60570 — 1.238721

0.601727 — 0.2067361

6.71860 + 1.014231

9.60570 4 1.238721

= —1.339530 + 0.2763871 9.68534 — 7.362021 0
= —1.339530 — 0.2763871 9.68534 + 7.362021 0
= 1.324120 + 0.3469481 1.00559 + 8.160701 0
= 1.324120 — 0.3469481 1.00559 — 8.160701 0
= 1.369290 + 0.0436821 6.62983 + 1.559221 0
= 1.369290 — 0.0436821 6.62983 — 1.559221 0

—0.080168 + 0.624756.1

—0.62665 — 1.536851

1.09952 + 5.241121

= —0.080168 — 0.6247561

—0.62665 + 1.536851

1.09952 — 5.241121

S| g|g|g || |g(e|g|e g2 |e|g|g|g|g|e|g|g|g|g|g|ge =

= 1.337040 + 0.3410101 1.56661 + 7.878691 0
= 1.337040 — 0.3410101 1.56661 — 7.878691 0
= —1.379070 + 0.0612691 5.59871 — 5.231091 0
= —1.379070 — 0.0612691 5.59871 + 5.231091 0
= —1.344960 + 0.3303091 7.99521 — 6.356311 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
= —1.344960 — 0.3303091 7.99521 + 6.356311 0
= —1.343360 + 0.3466821 0.17815 — 11.748901 0
= —1.343360 — 0.3466821 0.17815 4 11.748901 0
= —1.387760 + 0.0323691 12.77490 + 0.404591 0
= —1.387760 — 0.0323691 12.77490 — 0.404591 0
= 1.389120 + 0.0632401 11.12760 4 8.648521 0
= 1.389120 — 0.0632407 11.12760 — 8.648521 0
= 1.347730 + 0.3474721 5.6350 + 15.36397 0
= 1.347730 — 0.3474721 5.6350 — 15.36397 0

0.508944 + 0.3226021

—0.25179 + 4.120951

1.80082 — 8.294261

0.508944 — 0.3226021

—0.25179 — 4.120951

1.80082 + 8.294261

= —0.252272 + 0.5159531

4.20461 + 4.404031

4.02126 — 1.027841

—0.252272 — 0.5159531

4.20461 — 4.404031

4.02126 + 1.027841

—0.466798 + 0.2230351

0.965294 — 0.7779081

6.33896 + 2.429051

—0.466798 — 0.2230351

0.965294 + 0.7779081

6.33896 — 2.429051

—0.373663 4 0.3516391

1.20042 — 1.335031

2.25607 + 5.141881

—0.373663 — 0.3516391

1.20042 + 1.335031

2.25607 — 5.141881

0.237055 + 0.4433941

—1.04518 — 1.275191

—1.51740 + 0.905281

u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u
u

0.237055 — 0.4433941

—1.04518 + 1.275191

—1.51740 — 0.905281




II. u-Polynomials

Crossings u-Polynomials at each crossing

€1 u" —17u"™ 4 - -+ — 26040u + 1697

€2,C7,C8 u® —u e 2u—1
€3 u™ +u™ 4 13u -2
€4 u™ —u™ 4 — 40u — 25

C5, Co, C11 W a4 2u—1
€9 u™ — Tu™ - 4 4620u + 121

€10, C12 u™® —3u® + . —221u + 56




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c 79 78
1 Y+ 23y 4+ - — 69562296y — 2879809
C2,07,C8 yO Ty 4 =8y -1
CS y79+3y78+711y74
Ca y™ — 5y 4 ...+ 34200y — 625
C5,C6,C11 y79*65y78+"'*492*1
Cy 79 78 o
Y+ 19y° + - - -+ 25448720y — 14641
€10, C12 Y™ 51y + - + 22297y — 3136




